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out=zeros(wave);
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for n=20:length(wave),

for i=0:19,
out(n)=out(n)+wave(n-i)/20;
end

end

. playsnd(out);
-%| . | savewave('wave.wav',out);
; lot(out(1:500));
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wave = loadwave('aiueo.wav');

out=zeros(wave);
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for n=1000:length(wave),
out(n)=wave(n)+0.9*wave(n-999);

end
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wave = loadwave('@ @ @ .wav');
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out=(];
fori=0:9,
out=out+[zeros(1,1000%i), wave, [zeros(1,9000-1000%*i)]];
end
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time=length(out);

auto_correlation=zeros(1,time);

for tau=1:time,

auto_correlaton(to) - I
end

plot(auto_correlation);
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